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1| fo)=JG@—62(—z— D2+ ./(z—22(x —3)2 £¥5. ROZMOL =, f(z)ZMBITLAEI,

() 6<znrx, f(x)= 2x2-10X
(2)3<zrs6nrE, f(x)=[A1 |12

(B 2<zg3mtx, f(o)=[7 |-22%+10x
4) —1<zL20e%, f(m)=[x |2

(6) zs-1or ¥, f@) =[] )42 0g

fy = |x=-6l|-x=1] + [x-2]|x-3]

= |x-6||x+1] + | x=2[|x-3|
(N e<xntT X-620, xX+1>0, X-2>0, x-3>0 &/,

fx) = (x~6)(x+1) +(x-2)(x~3)
= xX2-Fx-btx2-Fx +}

= 2x*-10x

t

(2) 3<{xZ26MrF, x-b20, X+1>0, x-2>0. A-3>0d,

f(x)= = (x~6)(x+1) * (X~23(x~3)
=.12

(3) 2<XS3mtL¥, x-6<0, X+1>0, %-2>0, X-350 &Y,
Flx) = = (x=6)(x+1) = (X-2)(x~3)

—2x*+10x

i

(4) ~1<x220c¥, x=6<0, X+1>0, X=2£0. Xx-3<04Y,

Fv = —(x~6)(x+1)+ (x-2)(x~3)
= 12

—e [y

(5 x5-1ot¥ Xx-6<0, x+150, x-2<0, x-3<0 4,
Flor = (x=6)(x+1) + (x~2)(x~3)

= 2x%-10x
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